

ON D_4 INVARIANTS OF POLYNOMIAL ALGEBRAS

ŞEHMUS FINDIK AND NAZAR ŞAHİN ÖĞÜŞLÜ

0000-0001-5717-4413 and 0000-0001-7407-9178

ABSTRACT. Let D_4 be the dihedral group of order 8. In the present study, we give generators of the algebra of D_4 invariants in the polynomial algebra with four generators over a field of characteristic zero.

1. INTRODUCTION

Let $K[X_n]$ be the polynomial algebra of rank n over a field K of characteristic zero, and let $GL_n(K)$ be the general linear group. Hilbert's fourteen problem (see [1, 2, 3, 4]) asks whether algebra $K[X_n]^G$ of constants of any subgroup G of $GL_n(K)$ is finitely generated. Although it was negated by Nagata [5] in general, Noether [6] showed that $K[X_n]^G$ is finitely generated for finite groups G . Our work was motivated by the approach above: What are the finite generators of $K[X_n]^G$ for some concrete groups G , in particular when G is a subgroup of the symmetric group S_n . The dihedral group

$$D_4 = \langle r, s \mid r^2 = s^4, r s r = s^3 \rangle = \{1, r, s, r s, s^2, r s^2, s^3, r s^3\}$$

of order 8 can be realized as a subgroup of the symmetric group S_4 by defining $r = (12)(34)$, $s = (1234)$. In this case we have that

$$D_4 = \{(1), (12)(34), (1234), (24), (13)(24), (14)(23), (1432), (13)\}.$$

Let $K[X_4] = K[x_1, x_2, x_3, x_4]$ be the commutative unitary polynomial algebra of rank 4 over K . We define the invariant subalgebra

$$K[X_4]^{S_4} = \{f \in K[X_4] \mid f(x_{\pi(1)}, x_{\pi(2)}, x_{\pi(3)}, x_{\pi(4)}) = f(x_1, x_2, x_3, x_4), \forall \pi \in S_4\}$$

induced by the group S_4 . The algebra $K[X_4]^{S_4}$ is called the algebra of symmetric polynomials, and each polynomial in $K[X_4]^{S_4}$ is called a symmetric polynomial. It is well known that $K[X_4]^{S_4}$ is generated by elementary symmetric polynomials (see e.g. [7])

$$\begin{aligned} \alpha_1 &= x_1 + x_2 + x_3 + x_4, & \alpha_2 &= x_1 x_2 + x_1 x_3 + x_1 x_4 + x_2 x_3 + x_2 x_4 + x_3 x_4, \\ \alpha_3 &= x_1 x_2 x_3 + x_1 x_2 x_4 + x_1 x_3 x_4 + x_2 x_3 x_4, & \alpha_4 &= x_1 x_2 x_3 x_4. \end{aligned}$$

Date: Received: 2022-08-19; *Accepted:* 2022-10-26.

2000 Mathematics Subject Classification. 13A50.

Key words and phrases. Commutative, Invariant theory, Rings.

Elementary symmetric polynomials are algebraically independent. There exists another set $\{\beta_1, \beta_2, \beta_3, \beta_4\}$ of generators for $K[X_4]^{S_4}$, where

$$\begin{aligned}\beta_1 &= x_1 + x_2 + x_3 + x_4, & \beta_2 &= x_1^2 + x_2^2 + x_3^2 + x_4^2, \\ \beta_3 &= x_1^3 + x_2^3 + x_3^3 + x_4^3, & \beta_4 &= x_1^4 + x_2^4 + x_3^4 + x_4^4,\end{aligned}$$

that is not algebraically independent. We extend this notation to

$$\beta_n = x_1^n + x_2^n + x_3^n + x_4^n$$

for all $1 \leq n$. Similar to $K[X_4]^{S_4}$, we have that

$$K[X_4]^{D_4} = \{f \in K[X_4] \mid f(x_{\pi(1)}, x_{\pi(2)}, x_{\pi(3)}, x_{\pi(4)}) = f(x_1, x_2, x_3, x_4), \forall \pi \in D_4\}$$

Clearly, $K[X_4]^{S_4} \subsetneq K[X_4]^{D_4}$, since $p(x_1, x_2, x_3, x_4) = x_1x_3 + x_2x_4 \in K[X_4]^{D_4}$, while $p \notin K[X_4]^{S_4}$. In this paper, we aim to show that $K[X_4]^{D_4}$ is generated by polynomials $\alpha_1, \alpha_2, \alpha_3, \alpha_4, p$.

2. PRELIMINARIES

We give some preliminary results, in this section. Let us define

$$p_{a,b} = x_1^a x_3^b + x_1^b x_3^a + x_2^a x_4^b + x_2^b x_4^a, \quad 0 \leq a, b.$$

One may easily check that $p_{a,b} \in K[X_4]^{D_4}$, and that $p = \frac{1}{2}p_{1,1}$. We give the next list of equations without proof which is straightforward.

$$(2.1) \quad p_{a,b} = p_{b,a}, \quad 0 \leq a, b$$

$$(2.2) \quad p_{a,b} = \frac{1}{2}p_{1,1}p_{a-1,b-1} - \alpha_4 p_{a-2,b-2}, \quad 2 \leq a, b$$

$$(2.3) \quad p_{2,2} = \frac{1}{2}p_{1,1}^2 - 4\alpha_4$$

$$(2.4) \quad p_{1,b+3} = \frac{1}{2}\alpha_1 p_{1,b+2} - \frac{1}{2}p_{2,b+2} - \frac{1}{2}\alpha_3 \beta_{b+1} + \frac{1}{2}\alpha_4 \beta_b + \frac{1}{4}p_{1,1}\beta_{b+2}, \quad 0 \leq b$$

$$(2.5) \quad p_{1,3} = \frac{1}{2}\alpha_1 p_{1,2} - \frac{1}{2}p_{2,2} - \frac{1}{2}\alpha_3 \beta_1 + 2\alpha_4 + \frac{1}{4}p_{1,1}\beta_2$$

$$(2.6) \quad p_{1,2} = \frac{1}{2}\alpha_1 p_{1,1} - \alpha_3$$

The next lemma is necessary in the proof of the main result.

Lemma 2.1. $K[\alpha_1, \alpha_2, \alpha_3, \alpha_4, p_{a,b} \mid 0 \leq a, b] = K[\alpha_1, \alpha_2, \alpha_3, \alpha_4, p]$.

Proof. Clearly $K[\alpha_1, \alpha_2, \alpha_3, \alpha_4, p] \subset K[\alpha_1, \alpha_2, \alpha_3, \alpha_4, p_{a,b} \mid 0 \leq a, b]$ because

$$p = \frac{1}{2}p_{1,1} \in K[\alpha_1, \alpha_2, \alpha_3, \alpha_4, p_{a,b} \mid 0 \leq a, b].$$

In order to complete the proof, it is sufficient to show that $p_{a,b}$ is included in the algebra generated by $\alpha_1, \alpha_2, \alpha_3, \alpha_4, p$ for every $0 \leq a, b$. Initially, using the equations (2.1), (2.2), (2.3) inductively, we obtain that every polynomial

$$p_{a,b} \in K[\alpha_1, \alpha_2, \alpha_3, \alpha_4, p_{1,1}]$$

for every $2 \leq a, b$. Now by (2.1), (2.4), (2.5), we have that

$$p_{1,b} \in K[\alpha_1, \alpha_2, \alpha_3, \alpha_4, p_{1,1}, p_{1,2}]$$

for all $3 \leq b$. Finally, we terminate the proof by (2.6) implying that

$$p_{1,2} \in K[\alpha_1, \alpha_2, \alpha_3, \alpha_4, p_{1,1}].$$

□

3. MAIN RESULTS

The next theorem is the main result of the paper.

Theorem 3.1. *The algebra $K[X_4]^{D_4}$ is generated by $\alpha_1, \alpha_2, \alpha_3, \alpha_4, p$.*

Proof. It is sufficient to show that $K[X_4]^{D_4} \subset K[\alpha_1, \alpha_2, \alpha_3, \alpha_4, p_{ab} \mid 0 \leq a, b]$ by Lemma 2.1. Let

$$g = \sum_{0 \leq a, b, c, d} \varepsilon_{abcd} x_1^a x_2^b x_3^c x_4^d$$

be an arbitrary element of $K[X_4]^{D_4}$ of the form $g = g_1 + g_2 + g_3 + g_4$, where

$$g_1 = \sum_{0 \leq a, b, c, d} \varepsilon_{abcd} x_1^a x_2^b x_3^c x_4^d, \quad |\{a, b, c, d\}| = 1,$$

$$g_2 = \sum_{0 \leq a, b, c, d} \varepsilon_{abcd} x_1^a x_2^b x_3^c x_4^d, \quad |\{a, b, c, d\}| = 2,$$

$$g_3 = \sum_{0 \leq a, b, c, d} \varepsilon_{abcd} x_1^a x_2^b x_3^c x_4^d, \quad |\{a, b, c, d\}| = 3,$$

$$g_4 = \sum_{0 \leq a, b, c, d} \varepsilon_{abcd} x_1^a x_2^b x_3^c x_4^d, \quad |\{a, b, c, d\}| = 4.$$

It is clear that each g_i , $i = 1, 2, 3, 4$, is D_4 invariant; i.e.,

$$g_i(x_{\pi(1)}, x_{\pi(2)}, x_{\pi(3)}, x_{\pi(4)}) = g_i(x_1, x_2, x_3, x_4), \quad \forall \pi \in D_4.$$

Initially,

$$g_1 = \sum_{0 \leq a} \varepsilon_{aaaa} (x_1 x_2 x_3 x_4)^a = \sum_{0 \leq a} \varepsilon_{aaaa} \alpha_4^a \in K[\alpha_4].$$

On the other hand g_2 is of the form $g_2 = g_{21} + g_{22} + g_{23} + g_{24}$, where

$$g_{21} = \sum_{a < b} \varepsilon_{bbaa} x_1^b x_2^b x_3^a x_4^a + \varepsilon_{aabb} x_1^a x_2^a x_3^b x_4^b + \varepsilon_{abba} x_1^a x_2^b x_3^b x_4^a + \varepsilon_{baab} x_1^b x_2^a x_3^a x_4^b$$

$$g_{22} = \sum_{a < b} \varepsilon_{bbab} x_1^b x_2^b x_3^a x_4^b + \varepsilon_{bbba} x_1^b x_2^b x_3^b x_4^a + \varepsilon_{abbb} x_1^a x_2^b x_3^b x_4^b + \varepsilon_{babb} x_1^b x_2^a x_3^b x_4^b$$

$$g_{23} = \sum_{a < b} \varepsilon_{aaab} x_1^a x_2^a x_3^a x_4^b + \varepsilon_{aaba} x_1^a x_2^a x_3^b x_4^a + \varepsilon_{abaa} x_1^a x_2^b x_3^a x_4^a + \varepsilon_{baaa} x_1^b x_2^a x_3^a x_4^a$$

$$g_{24} = \sum_{a < b} \varepsilon_{abab} x_1^a x_2^b x_3^a x_4^b + \varepsilon_{baba} x_1^b x_2^a x_3^b x_4^a$$

One may easily show that no summand in a fixed g_{2i} turns into a summand in g_{2j} , $i \neq j$, under the action of D_4 . Thus by

$$g_2(x_{\pi(1)}, x_{\pi(2)}, x_{\pi(3)}, x_{\pi(4)}) = g_2(x_1, x_2, x_3, x_4), \quad \forall \pi \in D_4,$$

we get that

$$g_{2i}(x_{\pi(1)}, x_{\pi(2)}, x_{\pi(3)}, x_{\pi(4)}) = g_{2i}(x_1, x_2, x_3, x_4), \quad \forall \pi \in D_4, \quad i = 1, 2, 3, 4.$$

Easy calculations computing the actions of permutations from D_4 gives that all coefficients in each g_{2i} for a fixed (a, b) are equal; i.e.,

$$\begin{aligned} g_{21} &= \sum_{a < b} \varepsilon_{bbaa} (x_1^b x_2^b x_3^a x_4^a + x_1^a x_2^a x_3^b x_4^b + x_1^a x_2^b x_3^b x_4^a + x_1^b x_2^a x_3^a x_4^b) \\ g_{22} &= \sum_{a < b} \varepsilon_{bbab} (x_1^b x_2^b x_3^a x_4^b + x_1^b x_2^b x_3^b x_4^a + x_1^a x_2^b x_3^b x_4^b + x_1^b x_2^a x_3^b x_4^b) \\ g_{23} &= \sum_{a < b} \varepsilon_{aaab} (x_1^a x_2^a x_3^a x_4^b + x_1^a x_2^a x_3^b x_4^a + x_1^a x_2^b x_3^a x_4^a + x_1^b x_2^a x_3^a x_4^a) \\ g_{24} &= \sum_{a < b} \varepsilon_{abab} (x_1^a x_2^b x_3^a x_4^b + x_1^b x_2^a x_3^b x_4^a) \end{aligned}$$

which are in the form

$$\begin{aligned} g_{21} &= \frac{1}{2} \sum_{a < b} \varepsilon_{bbaa} (p_{a,b}^2 - p_{2a,2b} - p_{a+b,a+b}) \\ g_{22} &= \sum_{a < b} \varepsilon_{bbab} \alpha_4^a \left(\frac{1}{2} p_{b-a,b-a} \beta_{b-a} - p_{2(b-a),b-a} \right) \\ g_{23} &= \sum_{a < b} \varepsilon_{aaab} \alpha_4^a \beta_{b-a} \\ g_{24} &= \frac{1}{2} \sum_{a < b} \varepsilon_{abab} \alpha_4^a p_{b-a,b-a} \end{aligned}$$

Therefore $g_2 \in K[\alpha_1, \alpha_2, \alpha_3, \alpha_4, p_{ab} \mid 0 \leq a, b]$.

Next, g_3 is of the form $g_3 = g_{31} + g_{32} + g_{33} + g_{34} + g_{35} + g_{36}$, where

$$\begin{aligned} g_{31} &= \sum_{a < b < c} \left(\varepsilon_{accb} x_1^a x_2^c x_3^b x_4^c + \varepsilon_{coba} x_1^c x_2^c x_3^b x_4^a + \varepsilon_{cbac} x_1^c x_2^b x_3^a x_4^c + \varepsilon_{bacc} x_1^b x_2^a x_3^c x_4^c \right) \\ &\quad \left(\varepsilon_{cabc} x_1^c x_2^a x_3^b x_4^c + \varepsilon_{ccab} x_1^c x_2^c x_3^a x_4^b + \varepsilon_{bccca} x_1^b x_2^c x_3^c x_4^a + \varepsilon_{abcc} x_1^a x_2^b x_3^c x_4^c \right) \\ g_{32} &= \sum_{a < b < c} \left(\varepsilon_{acbb} x_1^a x_2^c x_3^b x_4^c + \varepsilon_{cbba} x_1^c x_2^b x_3^b x_4^a + \varepsilon_{bbac} x_1^b x_2^b x_3^a x_4^c + \varepsilon_{bacb} x_1^b x_2^a x_3^c x_4^b \right) \\ &\quad \left(\varepsilon_{cabbb} x_1^c x_2^a x_3^b x_4^c + \varepsilon_{bcab} x_1^b x_2^c x_3^a x_4^b + \varepsilon_{bbca} x_1^b x_2^b x_3^c x_4^a + \varepsilon_{abbc} x_1^a x_2^b x_3^c x_4^c \right) \\ g_{33} &= \sum_{a < b < c} \left(\varepsilon_{aabc} x_1^a x_2^a x_3^b x_4^c + \varepsilon_{abca} x_1^a x_2^b x_3^c x_4^a + \varepsilon_{bcaa} x_1^b x_2^c x_3^a x_4^a + \varepsilon_{caab} x_1^c x_2^a x_3^a x_4^b \right) \\ &\quad \left(\varepsilon_{aacb} x_1^a x_2^a x_3^c x_4^b + \varepsilon_{baac} x_1^b x_2^a x_3^a x_4^c + \varepsilon{cbaa} x_1^c x_2^b x_3^a x_4^a + \varepsilon{acba} x_1^a x_2^c x_3^b x_4^a \right) \\ g_{34} &= \sum_{a < b < c} \varepsilon_{acbc} x_1^a x_2^c x_3^b x_4^c + \varepsilon_{cbca} x_1^c x_2^b x_3^c x_4^a + \varepsilon_{bcac} x_1^b x_2^c x_3^a x_4^c + \varepsilon_{cacb} x_1^c x_2^a x_3^c x_4^b \\ g_{35} &= \sum_{a < b < c} \varepsilon_{abcb} x_1^a x_2^b x_3^c x_4^c + \varepsilon_{bcba} x_1^b x_2^c x_3^b x_4^a + \varepsilon_{cbab} x_1^c x_2^b x_3^a x_4^b + \varepsilon_{babc} x_1^b x_2^a x_3^b x_4^c \\ g_{36} &= \sum_{a < b < c} \varepsilon_{abac} x_1^a x_2^b x_3^a x_4^c + \varepsilon_{baca} x_1^b x_2^a x_3^c x_4^a + \varepsilon_{acab} x_1^a x_2^c x_3^a x_4^b + \varepsilon_{caba} x_1^c x_2^a x_3^b x_4^a \end{aligned}$$

Similarly, g_{3i} , $i = 1, 2, 3, 4, 5, 6$, is D_4 -invariant, and hence we have that

$$\begin{aligned} g_{31} &= \sum_{a < b < c} \varepsilon_{accb} (p_{a,c} p_{b,c} - p_{a+b,2c} - p_{a+c,b+c}) \\ g_{32} &= \sum_{a < b < c} \varepsilon_{acbb} (p_{a,b} p_{b,c} - p_{a+c,2b} - p_{a+b,b+c}) \\ g_{33} &= \sum_{a < b < c} \varepsilon_{aabc} (p_{a,b} p_{a,c} - p_{2a,b+c} - p_{a+c,a+b}) \end{aligned}$$

$$g_{34} = \sum_{a < b < c} \varepsilon_{acbc} \alpha_4^a \left(\frac{1}{2} p_{c-a, c-a} \beta_{b-a} - p_{b+c-2a, c-a} \right)$$

$$g_{35} = \sum_{a < b < c} \varepsilon_{abcb} \alpha_4^a \left(\frac{1}{2} p_{b-a, b-a} \beta_{c-a} - p_{b+c-2a, b-a} \right)$$

$$g_{36} = \frac{1}{2} \sum_{a < b < c} \varepsilon_{abac} (p_{a,a} p_{b,c} - 2p_{a+b, a+c})$$

and that $g_3 \in K[\alpha_1, \alpha_2, \alpha_3, \alpha_4, p_{ab} \mid 0 \leq a, b]$.

Finally, g_3 is of the form $g_4 = g_{41} + g_{42} + g_{43}$, where

$$g_{41} = \sum_{a < b < c < d} \begin{pmatrix} \varepsilon_{abcd} x_1^a x_2^b x_3^c x_4^d + \varepsilon_{bcda} x_1^b x_2^c x_3^d x_4^a + \varepsilon_{cdab} x_1^c x_2^d x_3^a x_4^b + \varepsilon_{dabc} x_1^d x_2^a x_3^b x_4^c \\ \varepsilon_{badc} x_1^b x_2^a x_3^d x_4^c + \varepsilon_{cbad} x_1^c x_2^b x_3^a x_4^d + \varepsilon_{dcba} x_1^d x_2^c x_3^b x_4^a + \varepsilon_{adcb} x_1^a x_2^d x_3^c x_4^b \end{pmatrix}$$

$$g_{42} = \sum_{a < b < c < d} \begin{pmatrix} \varepsilon_{acbd} x_1^a x_2^c x_3^b x_4^d + \varepsilon_{cbda} x_1^c x_2^b x_3^d x_4^a + \varepsilon_{bdac} x_1^b x_2^d x_3^a x_4^c + \varepsilon_{dacb} x_1^d x_2^a x_3^c x_4^b \\ \varepsilon_{cadb} x_1^c x_2^a x_3^d x_4^b + \varepsilon{bcad} x_1^b x_2^c x_3^a x_4^d + \varepsilon{dbca} x_1^d x_2^b x_3^c x_4^a + \varepsilon{adbc} x_1^a x_2^d x_3^b x_4^c \end{pmatrix}$$

$$g_{43} = \sum_{a < b < c < d} \begin{pmatrix} \varepsilon_{abdc} x_1^a x_2^b x_3^d x_4^c + \varepsilon{bdca} x_1^b x_2^d x_3^c x_4^a + \varepsilon{dcab} x_1^d x_2^c x_3^a x_4^b + \varepsilon{cabd} x_1^c x_2^a x_3^b x_4^d \\ \varepsilon{bacd} x_1^b x_2^a x_3^d x_4^c + \varepsilon{dbac} x_1^d x_2^b x_3^a x_4^c + \varepsilon{cdba} x_1^c x_2^d x_3^b x_4^a + \varepsilon{acdb} x_1^a x_2^c x_3^d x_4^b \end{pmatrix}$$

Similar computations give that

$$g_{41} = \sum_{a < b < c < d} \varepsilon_{abcd} \alpha_4^a (\beta_{c-a} p_{d-a, b-a} - p_{d-a, b+c-2a} - p_{b-a, d+c-2a})$$

$$g_{42} = \sum_{a < b < c < d} \varepsilon_{acbd} \alpha_4^a (\beta_{b-a} p_{d-a, c-a} - p_{c-a, b+d-2a} - p_{d-a, b+c-2a})$$

$$g_{43} = \sum_{a < b < c < d} \varepsilon_{abdc} \alpha_4^a (\beta_{d-a} p_{c-a, b-a} - p_{c-a, b+d-2a} - p_{b-a, d+c-2a})$$

and that $g_4 \in K[\alpha_1, \alpha_2, \alpha_3, \alpha_4, p_{ab} \mid 0 \leq a, b]$. Consequently,

$$g = g_1 + g_2 + g_3 + g_4 \in K[\alpha_1, \alpha_2, \alpha_3, \alpha_4, p_{ab} \mid 0 \leq a, b].$$

□

4. CONCLUSION

In this study, generators for the algebra of D_4 -invariants were provided. This might be an initial approach for determining generators for algebras of G -invariants, where G is a subgroup of S_n , $n \geq 4$.

5. ACKNOWLEDGMENTS

The authors would like to thank the reviewers and editors of Journal of Universal Mathematics.

Funding

The authors declared that has not received any financial support for the research, authorship or publication of this study.

The Declaration of Conflict of Interest/ Common Interest

The authors declared no conflict of interest or common interest

The Declaration of Ethics Committee Approval

This study does not be necessary ethical committee permission or any special permission.

The Declaration of Research and Publication Ethics

The authors declared that they comply with the scientific, ethical, and citation rules of Journal of Universal Mathematics in all processes of the study and that they do not make any falsification on the data collected. Besides, the authors declared that Journal of Universal Mathematics and its editorial board have no responsibility for any ethical violations that may be encountered and this study has not been evaluated in any academic publication environment other than Journal of Universal Mathematics.

REFERENCES

- [1] D. Hilbert, Ueber die Theorie der algebraischen Formen, Math. Ann., Vol.36, pp. 473-534 (1890).
- [2] D. Hilbert, Ueber die vollen Invariantensysteme, Math. Ann., Vol.42, pp. 313-373 (1893).
- [3] D. Hilbert, Mathematische Probleme, Göttinger Nachrichten, pp. 253-297 (1900); Arch. Math. u. Phys., Vol.3, No.1, pp. 44-63 (1901); Translation: Bull. Amer. Math. Soc., Vol.8, No.10, pp. 437-479 (1902) .
- [4] J.E. Humphreys, Hilbert's Fourteenth Problem, Amer. Math. Monthly, Vol.85, No.5, pp. 341-353 (1978).
- [5] M. Nagata, On the 14-th problem of Hilbert, Amer. J. Math., Vol.81, pp. 766-772 (1959).
- [6] E. Noether, Der Endlichkeitssatz der Invarianten endlicher Gruppen, Math. Ann., Vol.77, pp. 89-92 (1916).
- [7] B. Sturmfels, Algorithms in invariant theory. Springer Science and Business Media, (2008).

DEPARTMENT OF MATHEMATICS, ÇUKUROVA UNIVERSITY, 01330 BALCALI, ADANA, TURKEY
Email address: sfindik@cu.edu.tr, noguslu@cu.edu.tr